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L, (B,Dshortcircuit) about 30uH
Lug and Ly (other coil open) as big as possible , >1mH

windings must be capable of handling 5 amps of current RMS

airgap must have a volume of about 100 cubic mm , then the B field stays at
30 uH and below 0,3 Tesla

E core can be as small as possible ,hysteresis losses at 20kHz , 0.3T may not
be bigger then a couple of Watts

multiple windings is possible but remember the capacity between A-B and D-C,
only afew pF are acceptable

please note that the windings must be made like drawn in the picture

"E-CORE MUST BE AS SMALL AS POSSIBLE WITH THESE"
SPECS
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